

ABBSOFT COMPUTERS

C PROGRAMMING & DATA STRUCTURE

[1 mark each]

1) The digital implies that the information in t

a) variables

b) constants

c) data types

d) none of the above

2) There are_____ numbers of characters in C language.

a) 32

b) 98

c) 32

d) 19

3) Flow chart has no startorno end symbols

a) True

b) False

4) In c language there are ____ basic data types.

a) 3

b) 4

c) 2

d) 5

5) Decision making is done by if statement.

a) True  

b) False

6) C language is 

a) General-purpose programming language.

b) Block structured programming language

c) Imperative computer programming language

d) All of the above.

7) Using array one can declare and define multiple variables of 

a) The same type with one identifier.
b) The different type with one identifier.
c) The same type with different identifier.
d) The different type with different identifier.
8) At the time of initialization of array, dimension is optional.

a) False

b) True

9) There are____ storage class  in ‘C’

a) Three
b) Four

c) Two

d) Five

10)  _____ is a self-contained block of statements that are perform a  coherent task of some kind

a) Function

b) Array

c) Structure

d) None of the above.

11)  Methods of calling a function are:

a) No argument No return value.

b) No argument with Return value.
c) Argument no return value.
d) Argument with return value.
e) All of the above
12)  A structure is a method of packing data of -- 

a) same type

b) different type

c) both a and b

d) None of the above.

13)  C programming language was developed by

a) Dennis Ritchie

b) Ken Thompson

c) Bill Gates
d) Peter Norton
14) C is a_________ language

a) High level 

b) low level

c) Middle level

d) Machine language

15)  Pointers is a special type of variable which is used to hold the ____ of variable 

a)  Pointer
b) Address

c) File

d) None of the above

16)  While using pointers 

a) One pointer can hold only one address at a time.

b) Before use, pointer must be defined.

c) Pointer hold only address, not the value.

d) All of the above.

17) Memory allocation at the runtime is known as 

a) Static memory allocation
b) Dynamic memory allocation
c) Paging

d) None of the above

18) Memory allocation at the compile time is known as

a) Static memory allocation
b) Dynamic memory allocation

c) Paging

d) None of the above

19) To deallocate the memory space the function ___  is used

a) Calloc()

b) Free()

c) Malloc()

d) None of the above.

20)  Structure initialization is not possible.  (True/False)   

21) Union and structure are same except storage allocation. (True/False)

22) To write to a new file or modify the contents of an existing file, you must first

a) Open a file
b) Close a file
c) Read a file

d) Write a file

23) ____ mode to truncate to 0 length, if existent, r create text file for update over bibary file.

a) “w”

b) “rb+”

c) “wb+”

d) “w+”

24) “w+” and “wb+” are same about it operation. (True/False)

25)  putc() and puts() are the same in nature. (True/False)

26) Which escape character can be used o beep from speaker in C?

a) \a

b) \b

c) \m

d) \c

27) Maximum size of the double variable is:

a) 1 byte

b) 4 byte

c) 8 byte

d) 16 byte

The operator & is used for  


a) Bitwise AND 



b)  Bitwise OR 



c)  Logical AND



d)   Logical OR  

28) The operator | is used for

a) Bitwise AND

b) Bitwise OR

c) Logical AND

d) Logical OR

29) Which operator is used for increasing the value of the variable by one only

a) a=a+1

b) a++

c) Both a & b

d) None of the above

30) The operator + in b+=7 means

a) b=7+7

b) b+7=b

c) b=b+7

d) b=7 

e) None of these

31) Which is a specification of a set of data and the set of operations that can be performed on the data?

a) Linear data structure

b) Homogenous data structure

c) Abstract data structure

d) None of the above.

32) A data structure is said to be linear if its element forms a 

a) Sequence

b) Linear list

c) Both a & b
d) None of these

33) Array is

a) linear data structure
b) non-linear data structure

c) complex data structure

d) none of these

34) Push operation is used to 

a) insert item into stack

b) delete item from stack

c) display item from stack

d) None of the above.

35) A data structure , in which a element is added and removed only from one end is, is known as-

a) queue
b) stack
c) array

d) none of these

36) LIFO means :

a) Least in Fast out

b) Last in first order

c) Last in first out

d) none of these

37) FIFO means :

a) Fast in Fast out

b) First in first  out

c) First in first order

d) none of these

38) If the stack is full, called:

a) Stack Underflow

b) Stack Overflow

c) Outflow

d) none of the above

39) Array is a collection of

a) identical data objects

b) different data objects
c) Both a and b
d) None of these
40) Deque is a special type of data structure in which insertion and deletion will be done.. 

a) Either at rear end or at the front end of the queue.
b) Neither at front end nor at the rear end of the queue.
c) Either at front end or at the rear end of the queue.
d) None of the above
[2 marks each]

41) ___ queue is a collection of elements such that each element has been assigned  a priority

a) priority queue 
b) Circular queue

c) Deque

d) none of these

42) Operation performed on linear lists:

a) Insertion of nodes

b) Deletion of nodes

c) Retrieval of values

d) Traversal in the list

e)  None of the above.

43) By Doubly Linked List, we can move in both the direction: (True/False)


44) Traverse the given tree using Pre-order.

a) 16 84 13 14 99 72 53 33 64 43 97

b) 14 13 84 16 53 72 99 64 33 43 97

c) 14 84 13 53 16 99 72 43 33 64 97

d) None of the above.

45) Convert the expression A+ (B*C-(D/E^F)*G*H to equivalent Postfix notation.

a) ABC*DEF^/G*-H*+

b) ABC*DEF^+/GH*+
c) A- * BC^ +  DE -+ FG
d) AB+C - DE ^ - *+ FG

46) Perform Inorder traversal of following tree:


a) A B D G H C E I F

b) G H D B I E F C A

c) G D H B A E I C F

d) G H D B A C I E F

47) In an AVL tree, the height of two child subtrees of any node differ by

a) At most one

b) At most two

c) At least one

d) At least two

48) True/false

a) BST and AVL Tree are same.(True/False)

b) Nodes that are not root and not leaf are called internal node. (True/False)

49) BFT stands for

a) Breadth-First Traversal

b) Best-First Traversal

c) Best-Fit Traversal

d) None of the above.

50) The most efficient method of searching a sequential table without the use of auxiliary indices or tables is 

a) The Binay Search

b) The  Sequential Search

c) Both a and b

d) None of the above

51)  Bubble sort has _______ 

a) Worst-case complexity O(n2)

b) Best-case complexity O(n2)

c) Average-case complexity O(n2)

d) None of the above

52) True/False

a) In quick sort, any element can be considered as pivot.(True/False)

b) Selection sort and bubble sort having same time complexity(True/False)

53) The preorder traversal of a binary tree begin with-

a) Traversal of the left sub tree in preorder

b) Traversal of the right sub tree in preorder

c) Processing of the root node

d) None of the above

54) The stack can be implemented by using

a) Arrays

b) structures

c) Union

d) None of the above.

55) Link of linked list in C is of type

a) unsigned integer

b) Pointer to integer
c) Pointer to struct
d) None of the above

56) A technique, which collects all deleted space onto free storage list, is called-

a) Static memory
b) Garbage collection allocation
c) Dynamic allocation

d) None of the above

57) Worst case efficiency of this search is n.
a) Sequential search

b) Binary search
c) Indexed search
d) None of these
58) Pointer when used in program after definition, then “*” means ___ and “&” means

a) “value of” , “address of”

b) “address of” , “value of”

c) Both a & b

d) None of the above.

59) Recursion is a tool to allow the programmer to reach a particular point called recursion point. It execute from

a) Button to Top

b) Top to Button

c) Left to Right

d) Right to Left

60) Disk operating system functions are:

a) getdata()

b) gettime()

c) setdate()

d) all of the above.

(4 marks each)

61.
Match making

a) Macro



i) unsigned long int

b) Data type



ii) \0

c) Single quotes


iii) #

d) Null



iv) ‘\’

a) a iii, b i, c iv, d ii

b) a i, b ii, c i, d i

c) a ii, b iii, c ii, d iii

d) a iv, b iv, c iii, d iv

62
find indegree or outdegree of vertex 4









a) 1, 1

b) 2, 1

c) 1, 2

d) 2, 2

63
Find the output of following:


void main()


{


int age=18;


if(age>=13 && age<=19)


{


printf(“Teen Ager”);


}


printf(“\n Bye Bye”);

}

a) Teen ager

b) Bye Bye

c) Both a & b

d) No output.

64
Find the output of following:


void main()


{


int i;


for(i=1;i=10;i++)

{

printf(“%d”,i);

}

}

a) 1 2 3 4 5 6 7 8 9 10

b) 10

c) 1

d) no output

65
A…………….variable declaration looks normal, but is located outside any of the programs function. This is usually done at the beginning of the program file before the ………..but after…………….directives. 

a) Global, main (), preprocessor

b) General, main (), Preprocessor

c) General, main (), headerfile

d) None of the above

66.
What will be the output of the following?


#include<stdio.h>


main()


{


int *i, *j, a=12, b=2,c;


c=(a=a+b, b=a/b, a=a*b, b=a-b);


i=&c;


printf(“%d”,--(*i));


a)
93






b)
92


c)
91






d)
90.

67.
The output of the following program:


#include<stdio.h>


main()


{


int a[3][3]=(3,7,8,6,5,4,3,5);


printf (“%d”, (a[2][0]>a[0][0])? a[0][2]: a[2][2]);


}


a)
8






b)
7


c)
6






d)
None of the above.

68.  Find out put of the following:

void main()


{


char str[]=”computer”;


strupr(str);


printf(“%c”,str);


}


a)
COMPUTER




b)
computer


c)
Both a & b





d)
None of these.

69.
Study the foll c program:


#include<stdio.h>


void main()


{


int a=7,b=5;


int x=3;


switch(x)


{


case 1:
a=a-b;break;


case 2:
a=a+b;break;


case 3:
a=a*b;break;


case 4:
a=a/b;break;


default :a=a;


}


printf(“%d”,a);


}


What will be the output:


a)
37







b)
35


c)
11







d)
None of these.

70.
Study the following C program:

#include<stdio.h>

void main()

{

int I;

clrscr();

printf(“list of even numbers b/w 1 to 100\n”);

for(i=5;i<=0;i--)

{

printf(“%d”,i)

}

}


a)
5 4 3 2 1





b)
1 2 3 4 5


c)
1 2 5 4 3






d)
None of these.

71.
What is the output of:

#include<stdio.h>

void main()

{

int a=7;

for (;a>=1;)

a--;

}


a)
1 2 3 4 5 6 7







b)
1 2 3 4 5 7 8 

c) 7 6 5 4 3 2 1






d)
no out put

72. 
Find output of  following

 #include<stdio.h>

void main()

{

auto int i=1;

{

auto int i=2;

{

auto int i=3;

printf(“%d”,i);

}

printf(“%d”,i);

}

 printf(“%d”,i);

}

a) 1 2 3 

b) 3  2 1

c) 1 1 1

d) 3 3 3 

73.
C is ……………language, i.e. it recognizes a …………..case letter and it’s ……….case equivalent as being different.


a) Case sensitive, upper, lower

b) Not a case sensitive, upper, lower

c) Not a case sensitive, predefined, user defined

d) None of the above

74. 
 Find output of  following

# include<stdio.h>

external int x=10

void main()

{

int x=20;

printf(“%d”,n);

display();

}

display()

{

printf(“%d”,x);

}

a) 10 10


b) 20 20

c) 10 20


d) 20 10

75.
Match the followings:

A. strrev() 



(i) Stack 
B. Queue


 

(ii) Linear data structure 
C. 
LIFO


 

(iii) string function

D.  prims algorithm


 (iv) minimum spanning tree

a) A- (iii), B-(ii), C-(i), D-(iv)

b) A- (ii), B-(ii), C-(iii), D-(iv)

c) A- (iii), B-(ii), C-(iv), D-(i)

d) A- (iii), B-(iv), C-(i), D-(ii)
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